RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Enrollment - July)

RESOLUTION NO. 03-301

1	WHEREAS,	the Tohono O	odham Council has reviewed the recommendations of the				
2		Enrollment Committee in accordance with Section I of Article VIII of the					
3		Enrollment Ordinance, Ordinance No. 05-81, and has made a final determination					
4		that the application of the following applicant for membership in the Tohono					
5		O'odham Nation be approved:					
6		ARTICLE II - MEMBERSHIP					
7		SECTION 1(b) ALL CHILDREN BORN TO RESIDENT MEMBERS					
8							
9		3836-B-02	SOZA, Amaya R.				
10		3861-B-03	LAVIER, DeShane A.L.				
11		3868-B-03	LAVIER, David Lee				
12		3880-B-03	LOPEZ, ZyAnn L.				
13		3881-B-03	HAVIER, JR., Reynaldo R.				
14		3882-B-03	HAVIER, Ian James				
15		3883-B-03	HAVIER, Lamar Q.				
16		3885-B-03	GARCIA, Angel M.				
17		3886-B-03	MENDEZ, Dylan G.				
18							
19		3618-GA-03	ANSELMO, Dominique				
20		3619-GA-03	LABORIN, Joseph M.				
21		3620-GA-03	PABLO, Daniel C.				
22 23		3621-GA-03	REYES, Chance T.F.				
24		2002 II 02	OCIETARE II-cal V				
25		2092-H-03 2097-H-03	OGLETREE, Uryeah K.				
26		2097-H-03 2098-H-03	RAMIREZ, Vanessa R. ANTONE, Severiano W.				
27		2070-M-03	ANTONE, Severiano W.				
28		2151-P-03	MERCADO, Jessica				
29		2131-1-03	MERCADO, Jessica				
30		2129-GB-03	RITTER, Mia A.				
31		2130-GB-03	RITTER, Isaac A.				
32		2131-GB-03	MOORE III., Henry L.				
33		2132-GB-03	OCHOA-MAGANA, Aaron I.				
34		2133-GB-03	SANCHEZ, Nevaeh E.				
35		2134-GB-03	WAGHER, Peter A.				
36		2135-GB-03	CHILDS, Johnelle A.				
37							
38		2245-SX-02	PARLEY, Teah J.				
39		2279-SX-02	WHITE, Adriana B.				
40		2283-SX-03	LOPEZ, Jayden J.				
41		2301-SX-03	ALVAREZ, Miguel B.				
42		2302-SX-03	IGNACIO, Cheyenne E.				
43		2303-SX-03	VARGAS, Marie (Torres)				
44			,				
45		1839-ST-03	MANUEL, Fredina				
46							
47		4962-S-03	MORISTO, Laddiea L.				
48		4974-S-03	MORALES, Thalia M.				
49		4975-S-03	LEWIS, Ryan C.				
50		4976-S-03	NORIEGA, Julian R.				

	RESOLUTION NO. <u>03-301</u>						
	(Enrollment - July) Page 2 of 3						
	Fage 2 01 3						
	1077 0 00 1777 0	au					
1 2	11	ON, Isaiah F.					
3	12	ICIO, Hailey S, Frantz					
4	li .	JEL-SALAZAR, Annalaya					
5	4973-3-03 MAN	EL-SALAZAR, Annalaya					
6	2344-SO-03 MAN	JE L, Paulina					
7	11	N, Stewart J.					
8	li .	NE, Mirage A.					
9	2350-SO-03 JOSE	Noleen N.					
10	2351-SO-03 LEWI	S, Ayana J.					
11	18	NE, Alexander					
12		NE, Joshua A.					
13		, Slaton C.					
14		S, Darius A.					
15	B	GA, Ky J.					
16 17	2355-S0-03 BABI	NO, Tatianna M.					
18	NOW, THEREFORE, BE IT RESOLVED	hat it is hereby determined that the above named applicant					
19	is eligible for enrolln	nent as a member of the Tohono O'odham Nation under					
20	Section 1(a) or (b) of A	rticle II of the Constitution of the Tohono O'odham Nation,					
21		tion is approved, as herein above indicated.					
22		e Chairman and other appropriate officers of the Tohono					
23	O'odham Nation reduce this final determination in writing regarding each of the						
24	foregoing applications for enrollment in accordance with Section 1(a) of Article						
25 26		t Ordinance; give notice of this Council's determination in					
27	accordance with Section 2 of Article XIII of the Enrollment Ordinance; and place						
28	the names of each applicant upon the membership roll of the Tohono O'odham Nation in accordance with Sections 2 and 3 of Article X of the Enrollment						
29		e with Sections 2 and 3 of Article A of the Enforment					
30		by the Tohono O'Odham Legislative Council on the <u>07TH.</u> Day					
31		nuorum was present with a vote of <u>2,629.7</u> FOR; <u>-0-</u> AGAINST;					
32		ursuant to the powers vested in the Council by Section 1 of					
33 34		e VI of the Constitution of the Tohono O'Odham Nation, tion on January 18, 1986; and approved by the Acting Deputy					
35		Operations) on March 6, 1986, pursuant to Section 16 of the					
36		operations, on there is, 1300, pursuant to section 10 or the					
37							
38		TOHONO O'ODHAM LEGISLATIVE COUNCIL					
39		Ω					
40		X4					
41		1 Je K					
42 43		Dennis Ramon, Legislative Chairman					
43		14 day of July , 20 03					
45		- January					
46	(1						

	RESOLUTION NO. <u>03-301</u>	
	(Enrollment - July)	
	Page 3 of 3	
1 2	Show of the	
3		
4	Julianna Saraficio, Acting Legislative Se	cretary
5		
6	$\frac{14^{4}}{1}$ day of $\frac{1}{1}$ day of $\frac{1}{1}$	3 .
7		
8		nnroval to the office of the Chairman of the Tohono
9	O'Odham Nation on the 14th day	pproval to the office of the Chairman of the Tohono of
10	M numericate the provisions of Se	ction 5 of Article VII of the Constitution and will become
11		ailure to either approve or disapprove it within 48 hours
12	11	
13		
14	TO	PHONO O'ODHAM LEGISLATIVE COUNCIL
15	; 1	
16		\mathcal{A}
17	' 	
18	Do	ennis Ramon, Legislative Chairman
19		
20	ā l	
21	- 4	
	"	
22		م م م
23	N/ Anna Comp	14th (hiller 13
24	APPROVED OB	the 1 day of 4 way , 20 0
25		the 14th day of July , 20 0 3 6:33 o'clock, f.m. Junihan Saunder VIAN IUAN-SAUNDERS, CHAIRWOMAN
26	[] DISAPPROVED at	o'clock, L.M.
27		
28		Muurihan 1 dia 2
29	' 	1 MMMM/MMLSaumaer
30	VI	vian juan-saunders, chairwoman
31	TO	PHONO O'ODHAM NATION
32		
33		
34		
35	3 	
36		//
37	11	the 15th day of
38	- 1	
39	1	33 o'clock.
40		
41		
42		
43		
44		ve vede j
45		
46		
70	' 	

ACTION: ENROLLMENT - JULY

MOVED: COUNCILWOMAN FRANCES ANTONE SECOND: COUNCILWOMAN FRANCES CONDE

DATE: JULY 07, 2003

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 192.6	1. ISIDRO LOPEZ (Nicholas Jose)	96.30	X			
172.0	2. DARLENE ANDREW (Rita Martinez)	96.30	X			
SELLS	1. DENNIS E. JOSE	232.80	x			
465.6	2. EVELYN JUAN	232.80	X			
SCHUK TOAK	1. FRANCES B. CONDE	88.05	X			
176.1	2. PHYLLIS JUAN	88.05	x			
SAN XAVIER	1. FELICIA NUÑEZ	107.70	x			
215.4	2. DENNIS RAMON ()	107.70	x			
SAN LUCY	1. JOHN W. LAWSON, SR.	83.15	X			
166.3	2. GLORIA RAMIREZ ()	83.15	x			
PISINEMO	1. BARBARA SALVICIO () 2. PATRICIA CRUZ ()	87.70	X			
175.4		87.70	x			x
HICKIWAN	1. DELMA GARCIA (Mary E. Sam)	85.15	X			
170.3	2. SANDRA ORTEGA	85.15	х			X
GU VO	1. RAYMOND VICTOR	95.70	X			
191.4	2. MICHAEL FLORES ()	95.70	x			х
GU ACHI	TIMOTHY L. JOAQUIN (Jonas Robles) JEROME JOAQUIN ()	126.80	X			
253.6		126.80	X			
CHUKUT KUK	1. KENNETH WILLIAMS	129.45	x			
258.9	(Juanita Homer) 2. VERLON M. JOSE (David Garcia)	129.45	X			
BABOQUIVARI	1. FRANCES MIGUEL	182.05	Х			
364.1	(Lucilda Norris-Valenzula) 2. FRANCES G. ANTONE ()	182. 05	X			
•	TOTAL	2,629.7	2,629.7	-0-	-0-	[03]